St. Mary’s School, Dwarka
Holiday Homework
Class VIII
Subject- English

Worksheet 1

Q1.The following passage has not been edited. There is one error in each line against which there is a

blank. Write the incorrect word and the correction in the given space: (*2x 6 =3)
Incorrect Correct

There is no doubt that loudspeakers

are one of the gift of science. a)

They are little useful when b)

large gatherings is to be addressed. C)

But the trouble arise when d)

such a thing is misuse by people. e)

They keep them go for days f)

at the highest pitch.
Q2. Rearrange the following words and phrases to make meaningful sentences. (1 x5=5)

a) killed/animals are/beaten/chained/and/mercilessly/trained.

b) their / heed / hears / and / pays / nobody/ to /cries.

¢) friends/companions/animals/necessary/are our/and/survival/for our

d) they / creation/ God/ are/ a/ of

e) should treat / we / them / with / love and affection




Q3. Read the conversation given below and complete the paragraph that follows: 1x4=14)

Ravi : Where were you yesterday evening?

Vinay : There was an exhibition of rare paintings at the Art Gallery.
Ravi : How well are you prepared for the entrance exam next week?
Vinay : | have been preparing for it the whole week.

Ravi asked Vinay (a) evening.
Vinay replied (b) .Ravi wanted to know
(© for the entrance exam

Vinay replied (d)

Q4. Read the following situation and frame appropriate questions: (1 x5 =5)

Your school has planned a trip for the students of class VIII to Pratapgarh Farms. Frame a set of five
questions which you would like to ask the person at the enquiry desk based on the following hints:

a) timings

b) entry fee

c) concession for students

d) safety of the students

e) creative activities

Q5. Fill in the blanks with suitable forms of words in the brackets: (*2 x 6=3)

I (a) (wait) to wash my school uniform myself. So yesterday I,

(b) (dip) the uniform in the soapy lukewarm water for some time. Next, | scrubbed the collar
and cuffs .Then I (rinse) the uniform in water for a few minutes. After (d) (rinse)
thoroughly, I wrung out the excess water gently. After (e) (hang) it on the line, the uniform
()] (dry) up immediately.




Worksheet 2

Q1.The following passage has not been edited. There is one error in each line against which there is a
blank. Write the incorrect word and the correction in the given space: (2 x 6 =3)

Incorrect Correct

Newspapers have become a part

and parcel of our lives. They gave a)
us the late news of our country. b)
There is no field of life which C)
newspapers did not touch. Along d)
in the news, they also give us e)
information of different events taking place f)

in our country and the world.

Q2. Rearrange the jumbled words and phrases to make meaningful sentences: (1 x5=5)

a) are/supposed /to /be /dogs /very / animals / loving

b) loyalty / famous / they /for / are /their/masters / towards / their

c) are/and/dogs/ loving / affectionate / naturally

d) neglect/ master /a/ may / his / dog / never / dog / neglect / a / his / master / but / will

e) for many/on/relied/ dogs /people have /generations

Q3. Read the conversation given below and complete the paragraph that follows: 1x3=3)

Sub-Inspector : What is the matter boys?

Student : My bicycle is stolen.

Sub-Inspector : Where did you keep your bicycle ?

Student . | kept my bicycle under a tree near the entrance.

The sub-Inspector asked the boys (a) . The student replied
(b) . The sub-Inspector further wanted to know(c)

. The student told him that he had kept his bicycle under a tree

near the entrance.




Q4. Read the following situation and frame appropriate questions: (1 x5=5)

You happen to meet a farmer on your visit to an agricultural farm. Frame a set of five questions
which you would like to ask him based on the following hints:

a) raw material

b) labour force

c) productivity

d) natural calamities

e) scientific technology

Q5. Fill in the blanks with suitable words: (*2x8=14)
The rain had just stopped. | went (a) into the garden. Then | heard a soft mewing. | saw a
little white kitten. It was wet and shivering. | brought it (b) the house and dried it. My
brother came (c) . He said that he had seen some kittens (d) the long grass (e)

our house.

| took some rice and gave it to the kitten. But it would not eat it."l wonder if it's old enough to eat
rice. It may still be feeding (f) its mother's milk," said my brother.l warmed up some milk
and gave it to the kitten but it would not drink the milk.

My brother and I carried the kitten down. We heard loud mewing. It was its mother cat. | put
(9) the kitten. The mother ran quickly to the little kitten. It started licking the kitten all (h)




Worksheet 3

1.1 The following passage has not been edited. There is one error in each line against which there is a
blank. Write the incorrect word and the correction in the given space: (*2x 6 =3)

Incorrect Correct

There is some truth in a common

saying that dogs became attached to a)
people while cats are general attached to b)
places. A dog will follow their c)
master anywhere, so a cat keeps d)
to the house it was used to. Even e)
then the house changes hands, the f)

cat will remain there.

2. Rearrange the following words and phrases to form meaningful sentences. (1x5=5)
a. has/ special/ to those / who/ to remain/ walking/ want/ appeal/ healthy/a.

b. and tones/ other muscles/ legs and/ strengthens/ the lungs,/ it

c. walking/ blood pressure/ cholesterol/ reduces/ and/ lowers/ level/ the

d. torelax/ it/ effective /is an / calories / way / to burn / and / a way

e. blood circulation / it /cardiovascular /is / exercise / a mode / as it / of / improves

3. Read the conversation given below and complete the passage that follows. Ax4=4)
Nathen : | could not call my English tutor.
Mother : Have you cancelled today’s class?
Nathen  : His phone is dead and there is no other way to contact him.
Nathen told his mother that (a) . Mother asked him whether (b)
Nathen replied that (c) and (d)
Q4. Read the following situation and frame appropriate questions: (1 x5=b)

a. You are out for a morning walk. You come across a well-known social activist. Frame a set of five
questions that you would like to ask him.

a) organization associated with




b). years of experience

¢) kind of activities

d) place of the organization

e) number of people working in the organization

Fill in the blanks with appropriate words. (2x6=3)
Lisa a) Susan were debating b) they should bake a chocolate cake
C) an apple pie for dessert. d) Lisa wanted cake, Susan preferred pie.

e) Lisa f) Susan wanted to bake cookies.




Subject - Hindi

Worksheet- 1
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Worksheet -2
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Worksheet - 3
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Subject: Mathematics
Worksheet-1

1. a) Find the height of a rhombus whose diagonals are of length 9 cm and 12cm and base is
6ecm. (2)
b) If area of a square is 225sq cm, then find its perimeter. (2
2. Find the area of a parallelogram with base 15 cm and corresponding height 9 cm.
Also find the area of a triangle with same base and same height. (2)
3. Find the area of a circular metallic ring whose outer diameter is 15 cm and inner diameter is
13 cm. (use identity to make calculation easier) 2
4. The area of a trapezium field is 960 square metres, the distance between two parallel sides is 30
m and one of the parallel side is 20 m. Find the other parallel side. 2
5. Find area and perimeter of a quadrant of circle whose radius is 5 cm. 3
O B
6. Divide the following expression: (2)
a) 10y (6y+21)by5 (2y +7) b) 27 a® b’ ¢! by 3abc
7. Factorise the following using identities: (mention the identity used)
(2 +2+2)
a) 49 p>— 12192 b) a? — 2ab + b?— ¢? c) 125 m? + 150m+ 45
8. Factorise the following expressions: (2+2+2)
a) X% + 5X +6 b) y? + 7y + 10 ¢) m?— 14m — 32
9. Factorise the following expressions and divide them as directed: (3+3)
a) z (10z2-160) by 5z (z+4) b) 4yz (z? + 6z — 16) by 2y (z +8)
10. Find and correct the error in the following statements: 3

a) by+7y+y-12y=0
b) (3x +2)?=3x%>+6x + 4

c) (y-3)=y*-9




Worksheet 2

1. If in a polyhedron number of: 2
a) faces = 6, vertices = 8 then find number of edges using Euler’s formula.

b) faces = 5, edges = 8 then find the number of vertices using Euler’s formula.

2. Draw following 3-D shapes and find the number of faces ,vertices and edges of each.

Cube , cuboid, sphere , cone ,cylinder , square and rectangular pyramid @)
3. Draw 2-D nets of the following 3-D shapes. (5)
Square prism , rectangular prism , triangular prism ,square pyramid and triangular pyramid

4. Write the following numbers in usual form :

(@) 3x10* (b) 3.72 x 10° 1)
5. Evaluate the following : 2
2 . =3 \. -4
a) (-5)%+ 125 ) () x (&)

6. Construct a quadrilateral ABCD in which AB = 4.5 cm, BC=4 cm, CD= 6.5 cm, DA= 3cm

and BD= 6.5 cm. Also write the steps of construction. 4

7. Name any two quadrilaterals whose diagonals : 3)
a) bisect each other b) are perpendicular bisectors of each other c) are equal

8. Find the perimeter and area of rhombus whose diagonals are 10cm and 24 cm . (3)

9. Find the value of x such that : (81)% + (729 )1** =9 X (2

10. The population of a city was 20000 in the year 1997 . It increased at the rate of 5% p.a. Find
population at the end of year 2000. (3)




Worksheet-3

1. If 8% GST is added on the purchase of a cycle of Rs. 5200 . Find the price of cycle including
tax. (2
2. a)add: (7xy + 5yz -3zx) , (4yz + 9zx -4y) and (-3zx +5x -2xy ) 3
a) subtract : 4a -6ab + 4b + 12 from 7b — 8a + 4ab — 8
b) multiply: 2,4y, 6y?,8Yy?
3. If 8% VAT is included in the prices, find the original price of (2+2)
a) A T.V. bought for Rs. 13500
b) A shampoo bottle bought for Rs. 180
4. A scooter was bought for Rs. 25,000 and a scooty for Rs. 35,000. The shopkeeper made a
profit of 8% on scooter and a loss of 6 % on scooty. Find the gain or 1oss% on the whole
transaction. (3)
5. The marked price of a ceiling fan is Rs. 1250 and the shopkeeper allows a discount of

6% on it. Find selling price of the fan. (2)
6. Find the compound interest on Rs. 5000 for 1 year at 8% per annum compounded
half yearly. (2
7. Use a suitable identity to get each of the following products;
(mention the identity used) 4
a) (x+3) (x +3) b) (2y —5) (2y-5)
8. Use a suitable identity to get each of the following products; 4
a)(a+11)(a+9) d) (@®+b?)(-b?+a?)
9. Using identities evaluate : a) 992 b) 1022 c) 78 x 82 (6)

10. Show that : (4xy + 3y)? - (4xy — 3y)? = 48 xy? (3)




Subject: Science

Worksheet 1

QL. Suppose the distance between earth and sun becomes half of its present distance. What is likely

to happen to life? Q)

Q2. Define light year.A star is ten light years away from the earth. Suppose it brightens up suddenly

today.How much time will it take for us to see thischange? (2

Q3. Draw the given figure and identify from the labelled positions A,B,C and D which will indicate

the position of the sun? Draw the sun at the appropriate position. (2
(B)
CDS
Moon/ \ \\ i
A) Nl (©)
R
Day [
Earth / /
Rays S (D)
Q4. Define: a) Calorific value b) Ignition temperature. (1+1)

Q5. How has the use of CNG in automobiles reduced air pollution? Why should we use crude oil

judiciously? (1+1)
Q6. Describe the structure of the earth. (2+2)
Q7. Explain how lightning occurs. (2
Q8. Define the following: (2

a. Metamorphosis b. Budding
Q9. a. Why are chloroplasts found only in plant cell? (2
b. What is the importance of reproduction in animals?

Q10. Draw the various stages of development of frog. 3




Worksheet 2
Q1. Observe the given figure and answer the following question.

Which of these two circuits A or B shows the correct observation? Give reason. (2

|
I

A B

Q2. Observe the circuit given -

Boojho set up this circuit for purification of copper. What will be the nature of — (i) plate A (ii)

plate B (iii) the solution. Explain the process of purification. 3

solution




Q3. Current does not flow in the circuit if there is a gap between the two wires. Does it indicate that

air is a poor conductor of electricity? Does air never conduct electricity? Explain.

Q4. Describe the working of simple electroscope.

Q5. What will you do to ensure your safety if lightning strikes when you are outdoor.

Q6. List four criteria for an ideal fuel.
Q7. What are fossil fuels? Name any two non-renewable natural resources.
Q8. Explain binary fission in amoeba.
Q9. Differentiate between:
a. Plant cell and animal cell
b. Internal fertilisation and external fertilisation
Q10. Draw a neat diagram of an animal cell and label the following parts:
a. Site of protein synthesis.
b. Site of cellular respiration.

c. Control centre of the cell.

)
(4)
)
)
(1+1)
)
)

@)




Worksheet 3

QL. In the circuit shown in Fig. when the circuit is completed, the hammer strikes the gong. Which

of the following force is responsible for the movement of hammer? Give reasons.

r’

\~.

\ o
rrrl' =4

4 H{efe :

(a) Gravitational force alone (b) electrostatic force alone

(c) magnetic force alone (d) Frictional force alone

)

Q2. Two women are of the same weight. One wears sandals with pointed heels while the other

wears sandals with flat soles. Which one would feel more comfortable while walking on a sandy

beach? Give reasons for your answer.

Q3. How does a lightning conductor protect a building from a lightning strike?
Q4. What causes an earthquake?

Q5. List four safety measures you would take during an earthquake.

Q6. Draw a candle flame and draw its different zones.

Q7. If 125 oscillations are produced in 5 seconds, what is the frequency in hertz?
Q8. What is the significance of different shapes and sizes of the cells in the body?
Q9. Why is cell known as structural and functional unit of life?

Q10. Differentiate between eukaryotes and prokaryotes.

)
)

)
)
(2+2)
)
)
)
)




Subject: Social Science

History Worksheet 1

Q1.What was the condition of the untouchables in British India?

Q2 .Write a short note on Kalighat paintings.

Q3 Mention any two major changes in the British policies after 1858.

Q4.Discuss two factors that led to the decline of Indian textiles.

Q5.What was the issue of disagreement between the Orientalists and the Anglicists?
Q6.Discuss the urban change during the British rule.

Q7.What were the grievances of the sepoys against the company?

Q8.Discuss three factors that led to the rise of nationalism in India.

Civics Worksheet-2

Q1. What is the need for an Independent Judiciary?

Q2. How did Mahatma Gandbhi try to remove untouchability?

Q3. Make a flow chart on the procedure to file an FIR.

Q4. Define the following terms:

(i) Social Hierarchy (ii) Reservation

Q5. Write a short note on Manual Scavengers.

Q6. Distinguish between Lok Sabha and Rajya Sabha with the help of a G.O.

Q7. Discuss any three constitutional safeguards that prevent the practice of untouchability.

Q8. What do you mean by the term jurisdiction? List the jurisdiction of the Supreme Court.

Explain any one.

Geography Worksheet-3

Q1. Give reasons:-
(1) Petroleum is referred to as “black gold”.
(i1) Quarrying can become a major environmental concern.

Q2. Distinguish between Conventional and Non-Conventional Sources of Energy.

W W W W N DD DD

N DD N DN

2+2

Q3. Which crop is referred to as ‘golden fibre’? List any four geographical conditions necessary

for its cultivation.
Q4. Explain the factors favourable for the development of the IT industry in Bengaluru.

Q5. What are the steps taken by Government to conserve flora and fauna of the country?




Q6. What is manufacturing? Describe the importance of manufacturing.
Q7. On the political map of the World, locate and label the following:
1. Any two main wheat producing countries

2. Largest producer and exporter of coffee in the world.




Subject- Sanskrit
Worksheet 1
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Worksheet -2
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Worksheet 3
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